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Practice Quiz 6
Closed Book and Notes — No Calculators Allowed

1. The ON-SET of the function realized by this
circuit is: vee vee
’(A) ZXYZ(O2 4) )
(B) >xvz(3,5,7) < 12 oD
(C) szYvZ(113;576i7) 13 -~ : . F

(E) none of the above
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2. Expressed in minimum sum-of-products
form, the function realized by this circuit is:

(A) X XY+XZ+X’ Z
( (B) X-Z +Y' z' Draw K-map:
E©yYZ+Y -2 + XY ' )
(D) Z+XY F'= x'z
(E) none of the above ’
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3. Expressed in minimum product-of-sums
form, the function realized by this circuit is:
(A) (X+2)-(Y+Z)
(B) (X'+Y)-(X+Y)-(Y+Z))
(C) Z-(X+Y)
(D) (X'+Z)-(Y'+Z)
(E) none of the above

4. The circuit shown exhibits the following
type of hazard when its input, X, transitions
from low-to-high:

(A) a static-zero hazard
((B) a static -one hazard )
jr"“dynamlc hazard

(D) a minterm hazard 1\ T 1
(E) none of the above | ‘«;L

5. The circuit shown exhibits the following N v/

type of hazard when its input, X, transitions A < R
from high-to-low: . A { \"
(A) a static-zero hazard \Tj .

(B) a static-one hazard

(C) adynamic hazard
(D) a minterm hazard \\ /

@E) none of the above e )




